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Which number is missing 
here?

puzzle 2

Which letter is missing here ?

puzzle 3

Can you figure out the pattern here  ?

puzzle 1

What number completes the sequence ?

puzzle 4

B D F

H R ?

D W A

? 7
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16 13
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163 8 21 42 94?

A

B

C
?

www.mathinenglish.com

www.mathinenglish.com

www.mathinenglish.com

www.mathinenglish.com



Math in English

Answer to brain teasers

Brain  Teasers level 4  #14

puzzle 1 :    C
When added together, each horizontal pair of 2 shapes is 
completely shaded.

puzzle 2 :    10
The difference between 2 adjacent numbers in the hexagon ring is 
always 3.

puzzle 3 :   Z
The 3rd cell in each row is the sum of the values of the first 2. 

puzzle 4 :    47
First step is + 5, second step is ×2, third + 5, 4th ×2, and so on. 
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